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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any five questions: 2x5=10
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a) Cite the differences between Schottky defect
and Frenkel defect.
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b) Explain how a catalyst influences the rate of a

chemical reaction.
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¢)  Write down the CGS and SI units of coefficient

of viscosity.
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Answer any two questions:

Among Nitrogen and Oxygen, which one has
greater ionization potential and why?
ARG e WHTEW 93 W I ARAHS
ey @R a® @=?

BF, is non-polar but NH, is polar. Explain.
BF, s ¥ g NH, &0 — Iy 371
Molecular weights of two gases are M, and
M, (M=2M,) respectively. Draw Maxwell's
velocity distribution curve for the mentioned
gases keeping the temperature fixed.
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Explain how the rate of a chemical reaction
varies with temperature. For a first order
reaction, show that the time required to

complete 75% is twice the time required to

complete 50%. 2+3=5
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Comment on the trends in bond energies (X-X)

of Halogen (X;) molecules:

X K Cl Br

2 2 2 2 2

3.7 45 35.6

Bond energy | 37

(Kcal/mole)

Explain why CO, is gas but SiO, is solid.
332=5

Halogen (X;) 9qef@ X-X T@Aries T
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T #fE 37 57 45 | 35.6
(Kcal/mole)
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Why PH, does not exist? What kind of crystal
defect does not result any change in density?
What do you mean by packing fraction and

packing efficiency? 2+142=5
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Answer any two questions:

10x2=20
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State Raoult's law for relative lowering of
vapour pressure with mathematical expression.
Cite differences between ideal and non-ideal
solutions.

A solution is prepared by dissolving 5g of NaCl
in 1000g of water and the density of the
solution is 0.997g.m™'. Calculate molality,
molarity, normality and mole fraction of the
solute. (Assume that the volume of the solution
is same as that of the solvent). 3+2+5=10
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Write down the molecular orbital (MO)
diagram of oxygen (O,) molecule and from
the MO diagram, calculate the bond order of
the molecule. With the help of VSEPR theory,
explain the structures of POCIL,, SF, and H,O.

3+1+6=10
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POCI,, SF, 9% H,0 @4 *fo= adal %4 1

At 25°C, water rose in a capillary of diameter

0.08 c¢m to a height of 3.72 cm. Calculate the

surface tension of water if the density of water

at 25°C be 0.998g/cc and g=980.665 cm/sec’.

Write short :o:wm on:

i)  Azeotropic mixture

ii) Dry ice

iii) White lead

iv) Pseudo unimolecular reaction
2+(4x2)=10

25°C GFeor @I 0.08 cm IO (I A

ST g AR 3.72 cm Tl AX® | T 25°C

THeel TeTd T 0.998g/cc T W3R g=980.665

cm/sec’ T, OIFE GER PO e w9
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